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ERRATUM NOTICE 
 

 Thursday 13 June 2019 – Morning 
 

 A Level Biology A 
 

H420/02 Biological diversity 
 

 
FOR THE ATTENTION OF THE EXAMS OFFICER 

To be opened on the day of the exam 
 

 Instructions to invigilators: 
 
Before the start of the exam, give one copy of this erratum to each candidate. 
 
Ask all candidates to change their copy of the question paper before starting the 
exam. 
 

 

Instructions to candidates: 
 
Turn to page 7 of the question paper and look at question 13. 
 

Find the Hardy-Weinberg equations at the end of the question.  
 
Cross out the equation p2 + 2pq + q2 = 1 and replace with p2 + 2pq + q2 = 1 
 
The line should now read: 
 

Use the equations:  p + q = 1 and p2 + 2pq + q2 = 1  
 

 

 

 
If you have any queries, please call our Customer Support Centre on 01223 553998. 


